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Which of the following principle suggests that growth follows a pattern that begins with
the head and upper body parts and then proceeds to the rest of the body?

At which stage of cognitive development can a child reason the following?

is a result of the continuous and complex interaction between
hereditary and socio-cultural environment.

In Lev Vygotsky's theory, is very important for children to learn.
is an agency of primary socialization while is an
agent of secondary socialization.

Principle of Inclusive education promotes:

Which of the following has been advocated in the National Education Policy 20207
Who proposed that cultural tools play an important role in cognitive development?
Which of the following significantly impacts social communication skills and ability to
make friends?

Which of the following is a correctly matched pair of Kohlberg's stages with their
underlying principles?

As per Howard Gardner's theory of multiple intelligences, intelligence includes.

Which of the following will hamper inclusion of student with Dysgraphia?

According to Jean Piaget, what are the most important characteristics of a teacher?
An example of question that promotes analysis.

Which of the following is a correctly matched pair of appropriate accommodation strategy

with respect to inclusion of students with the specified learning preferences?



